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SECTION A 
~ 3l 

1. Butanone is a four-carbon per molecule compound. Name the functional 

group present in it. 1 
&ll;fl'i ~ T.l"R-~ >rfu ~ CfiT ~ ~ I ~· ~ J>!Cf)ll!Tc-l""!Cf) ~ CfiT "'i1li 

~I 

2. Why is the colour of clear sky blue ? 1 

~ ancnm CfiT trr -;{R;rr cp.TI mm ~ ? 

3. Why is decrease of ozone in our ozone layer a cause for our worry ? 1 

~ ~ "%1 if ~ CfiT ~ ~ ~ fi:Fill CfiT cnRUT cr-TI m-m ~ ? 

4. Why are bacteria and fungi called decomposers ? 1 

~ (~CR.IRlll) 3th: ~ (~) am (decomposers) cr-TI Cfl~(11ct ~ ? 

5. In the periodic table, how does the tendency of atoms to lose electrons 

change on going from 

(i) left to right across a period ? 

(ii) top to bottom in a group ? 

~~if 

Ci) M 3Wffi if ~ ir ~ ~ if, 3th: 
Cii) M crf if ~ ir -;ftir ~ if, 
ffi'Cf ~~ col ~<'l<:f?l'i ~ col wffir i%B w:llR qR:qffid -?Rfr ~ I 

2 

6. What is meant by periodicity of properties of elements ? Why are the 
properties of elements placed in the same group of the periodic table 

similar? 2 
~ ~ ::rriT if 311qffidl (periodicity) CFllT :wf ~ ~ ? 3Wffi wuTI ~ ~ m crf 
if r@ ~ mqT ~ :JUT ~Cf)liil""!l'i cp.TI ~ ~ ? 

7. Define and show on a diagram, the following terms relating to a 

concave mirror : 

(i) Aperture 

(ii) Radius of curvature 

~ ~ ~ R8 ~col~~ 3th:~~ fer;{ 1R fC\@1$~: 

(i) ~(~Aperture) 

(ii) crn;m ~ 

2 
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8. Explain the formation of rainbow in the sky with the help of a 
~~~. 2 

~ m ~ 3Wl?m if~~ Gf.R.cn1 ~ .c€t w1~1~q: 

9. Give reasons : 

(i) The extent of deviation of a ray of light on passing through a 
glass prism depends on its colour. 

(ii) Lights of red colour are used for danger signals. 

~ cril\UT ~: 
(i) ~ cnl 00 ~ qjf ~ ~ ~ if it ~ -q-{ fctikH ~ ~ tlT -q-{ 

f.:rlR mm ~ I 

(ii) BWr -M qjf >fCii"m" N"CR ~ ~if m m-m ~ 1 

10. What is vegetative propagation ? Write two of its advantages. 

~ >[Cf$:{ (vegetative propagation) q:<:IT mnr ~ ? ~ ~ ~ fc;r@ 

11. Explain the terms : 

(i) Implantation of Zygote 

(ii) Placenta 

~wcn1~~: 

(i) ~'J)l~"l'i'Jl (Zygote) cn1 ~ 
(ii) t<?l~~l (Placenta) 

2 

2 

2 

12. Define : 2 
(i) Biomass 
(ii) Anaerobic de~adation 

-qft'qTliiT ~ : 

(i) i5fq-11m (Biomass) 
(ii) 3"1Cfi4C!l4 ~ (Anaerobic degradation) 

13. What is an equitable distribution of resources in a society and why is 
it necessary ? State any two factors which work against an equitable 
distribution of resources. 2 

. fcnm m if ~ qjf m fcRRuT CfliT mm ~ afu: "Q:m -?r.rr Cf4T 3i ICf !{ 4Cfl mor 
~ ? ~ ~ ~ "CflRCfi ~ -m ~ ~ m fcRRuT ~ ~. q:;r<:f. ~. ~ 
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14. (a) What is a homologous series of compounds ? List any two of its 
characteristics. 

(b) What 1s the next higher homologue of C3H 70H ? What is its 
formula and what is it called ? 3 

(en) ~ Ch1 f!J4'511dlll ~ (homologous series) Cf<IT irffi ~ ? ~ ~ -ey 
fct ~~lSI ct I~ f0f®1: I 

("&) C3H 70H "B wffi d'dUct{ ftl"l'J11ctlll ~ cnr ;w:r am ~ f0f®1: 1 

15. The positions of three elements A, B and C in the periodic table are 
indicated below : 

Group 16 

B 

Group 17 

(First Period) 

A (Second Period) 

(Third Period) 

c (Fourth Period) 

(a) State whether element C would be a metal or a non-metal. 
Why? 

(b) Which is the more active element, A or C ? Why? 

(c) Which type of ion (cation or anion) will be formed by the 
element C ? Why ? 3 

~ -men A, B am C ~ 3Wffi ~ if ~ -;:ftit ~ ~ ~ : 
crf 16 crf 17 

(lfQ"ffi awrcl) 

A (~ awrcl) 
ccmro awffi) 

B C (~21T awrcl) 

(en) ~ fcfi "ffi'Cf c ~ ~ ~ ~ 1 Cfl!T ? 
("&) cnf.1m "ffi'Cf 31f~ f>tll!I~TIC?l l A 31~ C ? Cfl!T ? 

("If) "ffi'Cf c ~ (~) &l'ill!>lll 31~ ~ (5fi011l!'i) ? Cfl!T ? 

16. With the help of a ray diagram explain why a convex mirror is 
preferred for rear view mirrors in motor cars. 3 

"C!>Cfi muT fcr;T ~ ~ fiG~ I~ l!> fcfi l11c:\ ~ if 1fu§ ~ crrffi ~ ~ ~ fum: ~ 
~ ~ Cfl!T 31f~ ~ liRT "'J1Tffi" ~ 
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17. What is understood by lateral displacement of light ? Illustrate it with 
the help of a diagram. List any two factors on which the· lateral 
displacement in a particular substance depends. 3 

~ ~ ~ (lateral) ~ "ft CF1T ~ ~ ~ ? ~ ~ enG ~ ft;:rQ: ~ 
fcfKuT m ~ 1 -Qit m ~ Cfil\Cfi ~ ~ '({\ oo ~ ~ if >rcmT g)]" ~ 
~ g)]" 1iR f.:rl:R m-m ~ 1 

18. N arne the three common defects of vision. What are their causes ? 
N arne the type of lens used to correct each of them. 3 

~ ~ 'ffi;r ~ ~ ~ ;m:r ~ I ~ ~ ~ cp:rr-cp:rr cnT\UT ~ ? ~ "ft ~ 
~ ft;:rQ: ~~ -ffi:r g)]" ;m:r 'lfr ~ I 

19. Expand AIDS. List any four methods of prevention (control) of AIDS. 3 

AIDS c€t ~-~ ~ I AIDS c€t ircFr cnl m ~ W~ ~-ciiiilOS: ~ I 
20. Explain how evolutionary relationships can be traced by the study of 

homologous organs. 3 

~ ~ fcn fll""I'Jllcilll 3friT c€t ~ W1 tit MCfl1'8~TIC1 (evolutionary)~ c€t 
~~~I 

21. "Only variations that confer an advantage on an individual organism 
will survive in a population." Justify this statement. 3 

"~ % qf{qJ<i, it 00 ~ ~ c€t 'C1'N ~ t c@ 'Jl'iB~I if ~ '@r 
~ I" ~ CfiZR g)]"~~ I 

22. How is the sex of the child fixed during the fertilisation step in human 
beings ? Explain. 3 

3isR~il'i ~ if 1iRCf ~ g)]" fuiT R~ ~ m mm ~ ? ~ ~ I 

23. Give reasons for the following : 5 
(i) Element carbon forms compounds mainly by covalent bonding. 
(ii) Diamond has a high melting point. 
(iii) Graphite is a good conductor of electricity. 
(iv) Acetylene burns with a sooty flame. 
(v) Kerosene does not decolourise Bromine water while cooking oils 

do. 

OR 
(a) What is a detergent ? Name one detergent. 
(b) Write two advantages and two disadvantages of using detergents 

over soaps. 
(c) Why, by using a detergent, can we wash clothes even in hard 

water? 
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f.:p:r:tfC1 f.@ <:1 ~ fC.;m: CWUT ~ : 

(i) CfiTGf;:r ffiq ~ fft?fi«{l\lll ~ mr m ~ q;mrr ~ 

(ii) "@ CfiT J I (fH i Cfl ~ '?rnr ~ I 

(iii) ~ ~ CfiT ~IMCfl ~ I 

(iv) Qfi'if2:~l'i ~ m 'B ~ ~ I 

(v) en~Bl'i ~ ~ ~ "M cit ~ ~ Cfi«<T ~ ~ m ~ -ftB "3it ~ 
CR ~~I 

3l~ 

(Cfi) ~ (3"1q41'5\'Cfl) CfliT '?rnr ~ ? 00 ~ ~ CfiT -;wr ~ I 

c~) ~ ctt ~ if ~ m ~ ~ C1N 3fu: ~ ~ ~ 1 

(11) ~ ~ >r1tTf mr ~ ~ cit ~ \lfC1 # '4t CFlT m ~ ~ ? 

24. (a) Under what condition will a glass lens placed in a transparent 

liqui<l become invisible ? 

(b) Describe and illustrate with a diagram, how we should arrange 
two converging lenses so that a parallel beam of light entering 
one lens emerges as a parallel beam after passing through the 
second lens. 

(c) An object is placed at a distance of 3 em from a concave lens of 
focal length 12 em. Find the (i) position and (ii) nature of the 
image formed. 

OR 

(a) With the help of a ray diagram explain why a concave lens 
diverges the rays of a parallel beam of light. 

(b) A 2·0 em tall object is placed perpendicular to the principal axis 
of a concave lens of focal length 15 em. At what distance from the 
lens, should the object be placed so that it forms an image 10 em 

5 

from the lens ? Also find the nature and the size of image formed. 5 

(Cfi) fciffi ~ # oo ~ ~ if ~ ~311 ~ CfiT ~ ~ ~ m-~ ? 

(~) ~ ~ ~ ~ q quf;r ~ fcn ~ 31f'l1f!Rr "ffiTI cit fciffi >!CflR ~ 
~ fcn ~ ~ 'B m CfiB crrBT fflOJHI~\ >TCfirn fcn\uT ~ ~ ~ 'B ~ 
3Wf ~ r-"1: fflOJHI~'( ~ ~ ~ m ~ CfiT ~ 
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(<r) 12 M-~ ~ it ~ ~ ~ ir 3 M- ~ ~ ~ cn1 wr ~ 1 >fT1:(f 

~ ~ >lfu~~ ctf (i) ~ 3fu: ~ (ii) >r¥o ~ ~ I 

(co) ~ mur m ~ ~ ~ fco ~ ~ ~ ~ ~ flllHI~< ~ 

mu-r ¥ cn1 ~ Cfi\dT ~ 1 

("&) 2·0 M-~ it ~ cn1 15 Wfr ~ ~ it ~ ~ it ~ ~ <R 

('t~Clfl wr 7flTT ~ 1 ~ cn1 ~ ir ~ ~ <R wr ~ fco ~ >~Ri~kl 
~ if 10 ifm ctf ~ <R ~ I >fT1:(f ~ >lfu~~ CfiT ~ 3ffi ~ ~ 
~I 

25. (a) Draw a diagram illustrating fertilization in a flowering plant and 
label on it : 

Male germ cell, Ovary, Female germ cell and Pollen grain. 

(b) Distinguish between self pollination and cross pollination. 

OR 

(a) What is spore formation ? 

(b) Draw a diagram showing spore formation in Rhizopus. 

(c) List two advantages for organisms to reproduce themselves 

5 

through spores. 5 

(co) ~ ~ ~ ~ crrir if F~m ~ it ~ ~ m ~ 3th: ~ <R 

~~: 

-;:p: ~ (germ) ctlf.liCfll, ~ (ovary), ~ ~ (germ) cnlf.liCfll 3iT\ 
'lffi1T q;ur (pollen grain) I 

("&) *44\lliOI 3i'h: 4\4\lliOI if 3Mn: ~ I 

~ 

(co) ~ ~ (spore formation) q:<:[T mm ~ ? 

("&) \l~:v~i4fl (Rhizopus) if ~ ~ cnl ~ it ~ m ~ I 

('T) ~ it ~ ~ ~ it cn1{ cJ ~ ~-qjqQ& ~ I 
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SECTIONB 
mtT Gf 

26. Dhoni obtained the image of a distant object on a screen by using a 
concave mirror. To find the focal length of the mirror he should 
measure the distance between 

(A) the mirror and the screen as well as between object and the 
screen 

(B) mirror and the screen 

(C) object and the screen 

(D) object and the mirror 

~ ~ ~ ~ 'R m ~ ~ ~ ih ~ cnr ~ 'R 5lfu~kl ~ 1W:rT 1 ~ 
cn1 ~ ~ ~ ~ ih fum: ~ l1rHt irfr coRm ~ : 
(A) ~ ~ ~ ih tifrq cn1 ~ ~ ~ ~ ih tifrq cn1 

(B) ~ ~ ~ ih tifrq cn1 

(C) ~ ~ ~ ih tifrq cn1 

(D) ~ ~ ~ ih tifrq cn1 

27. Which of the following can be used to find the focal length of a convex 

1 

lens ? 1 

(A) Object at a distance of 10 em for a lens of focal length 30 em 

(B) Light from a laboratory window 

(C) Light from the sun 

(D) Light from a tree next to the window 

~ ~ ~ cn1 ~ ~ ~ ~ ih ft;m: f.iJO<ir~r~~ if "ft ~ m 1W:rT ~ 
WMIT ~ ? 

(A) 30 W:iT ·~ ~ ih ~ ih ft;m: 10 WTI ~ 1R ~ CfiT 

(B) 5l£illl~ll<.11 cn1 ~ "ft 3TI ~ ~ CfiT 

(C) ~ "ft :m ~ ~· CfiT 

(D) ~ ih f.:fcg ih ~ "ft 3TI ~ ~ CfiT 
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28. Mohan, Sohan and Rahul separately measured the focal length of the 
same convex lens using the same distant tree as object. All of them 
measured the distance between the lens and the inverted image of the 
tree on the screen. 

Mohan obtained a sharp image on the screen and labelled the 
measured distance as f1. 

Sohan obtained a slightly smaller and somewhat blurred image on 
the screen. He labelled the measured distance as f2. 

Rahul obtained a slightly magnified and blurred image on the screen. 
He labelled the measured distance as f3. 

The three measured values of focal length are likely to be related as 1 

(A) f1 < f2 and f1 = f3 

(B) f1 < f2 and f1 < f3 

(C) f3 > f1 > f2 

(D) f1 = f2 = f3 

~ ~ ~ ~ ~ ~ llR C8: ~, ~ ~ ~ ~ 'F·l~-<J~ ~ m ~ ~ 
Chl ~ ~ ~ lW1T I W ~ ~ 3fu: BtR lR ~ ~ ~ ~ 5lfcif21k1 ~ ~ 
Chl~~lirlTI 

~ ~ BtR lR ~ ~ (~) >1fe1f21PS1 ~ M 3fu: ~ ~ ~ f1 ~ ~i:hRiCJ 
Ml 

~ ~ BtR lR ~ -rnzr 3fu: ¥9 ~~ >lmf21k1 ~ fcncrr 3fu: mfi:r(r ~ ~ f2 

-B ~Ctlfcid M I 

~ ~ BtR lR ~ ~ 3fu: ~~ >1Rif21PS1 ~ M I ~ ~ ~ ~ f3 "B 
~Ctlfcid M I 

~ ~ ~ ~ ~ liRT CflT ~ ~ ~ 

(A) f1 < f2 3fu: f1 = f3 

(B) f1 < f2 3fu: f1 < f3 

(C) f3 > f1 > f2 

(D) f1 = f2 = f3 

3.1 /2/1 1 0 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



29. The best set-up of pins for the incident ray to trace the path of a ray 
of light through a rectangular glass slab is represented in the figure 1 

. . . . . 
CJ CJ CJ CJ 

I II III IV 
(A) I (B) II 
(C) III (D) IV 

>fCfim ~ ~ ~ 3"lllldlctlR ~ m ~ ~ ~ ~ it ~ ~ ~ ~ ~ 
~~fCRTitWTR-·cnr~~~mif~ll<1f~? 

(A) I 
(C) III 

. . . . . 
CJ CJ CJ CJ 

I II III 
(B) II 
(D) IV 

IV 

30. While tracing the path of a ray of light through a rectangular glass 
slab, the four students I, II, III and IV arrived at the following 
different conclusions : 

Student I: Angle of incidence> Angle of emergence. 

Student II : Angle of refraction > Angle of emergence. 

Student III : Emergent ray is parallel to refracted ray. 

Student IV : Emergent ray is parallel to incident ray. 

The correct conclusion has been drawn by the student 1 
(A) I (B) II 
(C) III (D) IV 

Cfi'fq ~ ~ 3"lllldlct>R m if it~~~ cnr 11~ ~ Cfi""8 if 'qR m;fi I, II, III 
~ IV ~ Ruh:r R-8 f'l1?r *fiR 2t : 
m:f I : ~ ituT > R'"rRf ituT I 

m:f II : ~ ituT > R'"rRf ituT I 

m:f III : R'"rRf ~ 34YC!ffid ~ ~ ~ ~ 
m:r IV : R'"rRr ~ ~ fCfiDJT ~ fil11'"f1\ ~ 

~ ~ ~ Cfi""8 cm1T ~ ~ 

(A) I (B) II 

(C) III (D) IV 
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31. On adding a clean Aluminium strip to an aqueous solution of copper 
sulphate, it is observed that the colour of the solution changes from 1 

(A) blue to colourless (B) colourless to blue 

(C) blue to green (D) green to blue 

Q(jfilRll+i cn1 ~ -qfr cnr ~ ~ ~ ~ fcR1<:R -q ~ til: ~ 0r fcn 
fcfw:R COT t1f ~ ~ 

32. An aqueous solution of zinc sulphate was taken in four test tubes. Zinc, 
Iron, Copper and Aluminium pieces were dropped into separate test 
tubes as given below : 

_w _w Jj 
Zn 

-
Cu 

--
Fe 

I II III 

A reaction will be observed in test tubes 

(A) I and II 

(C) II and III 

(B) I and III 

(D) only IV 

_w 
Al 

-

IV 

~ ~ ~ ~ ~l?ll!'"l cnT 'GR 4H9'1f~lll. -q ft;r:rr 'l7:IT I ~' 3WK-1, W 
am: Q(jMRl!+i ~ ~ "'2~-~ 4{'&rtfw"il -q m ~ I <:[Q f~li1Cfll?ll4 f.1q m -q 
~ fcn<:rr TfliT ~ 

-
Zn 

I II 

(A) I aW II 

(C) II aW III 

31/2/1 

_w -
Cu 

III 

. (B) I aW III 

(D) ~IV 
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33. On shaking acetic acid with water 1 

(A) a colloidal solution is formed. 

(B) a suspension is formed. 

(C) a homogeneous mixture is formed. 

(D) a heterogeneous mixture is formed. 

QB,.HlCfl ~ cn1 ~ ~ ~ ~ 1R 

(A) ~ chl<1Tllsl ~ ~ ~ I 

(B) ~ f.mk1'i (suspension) ~ ~ 

(C) ~~fir~~~ I 

(D) ~ Mt:lJOOfilfl fir~ ~ ~ I 

34. When solid sodium bicarbonate is added to a dilute aqueous solution of 
ethanoic acid 1 

(A) Brisk effervescence takes place and an odourless gas is evolved. 

(B) Brisk effervescence takes place and a pungent smelling gas is 
evolved. 

(C) No effervescence occurs and no gas is evolved. 

(D) Brisk effervescence occurs and a gas is evolved which helps a 
glowing splinter to burn with a flame. 

~ ~ ~ ~ ~ ~ ~ if "dm Bifull+i ciii~Cflliiff~c: SR1T ~ ~ m-
(A) cfrn 1<;1i;IQC: mm ~ afu: ~ ~ Tffi RCfl<1ffi ~ I 

(B) cfrn 1<;1i;IQC: mm ~ aW ~ Wcit lP:l -crrffi Tffi RCfl<1dl ~ I 

cc) ~ 1<;1<;1Qc: mm t ~ "CflT{ -rm RCflW11 ~ 1 

(D) cfrn 1<;1<;1Qc: mm ~ am: ~ -rm RCfl<1ffi ~ it ~ ~('lllctl "ffi"ffi cn1 5(\lqf~d 
en\~~ I 

35. As observed in the school laboratory, acetic acid is 

(A) blue in colour and has a fruity smell. 

(B) colourless and smells like vinegar .. 

(C) colourless and has no odour. 

(D) colourless and smells like rotten eggs. 

1 
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fclwi91ll wo~lll~lli911 # ~ ~ ~ ~' Qfi1R:cti ~ 

(A) ~ trf CfiT ~ ~ atR lflffi ~ TP1:I ~ ~ I 

(B) trf-~ ~ ~ atR ~ ~ TPI:I ~ ~ I 

(C) trf-~ atR Ff.:rr ~ CfiT ~ ~ I 

(D) trf-~ atR ~ m ~ ~ qrc;rr ~ ~ I 

36. A slide shows a cell and another similar cell of smaller size attached to 
the tip of the first cell. This slide could be of 1 

(A) two buds of yeast 

(B) yeast with a bud 

(C) Amoeba with bud 

(D) two daughter cells of Amoeba 

"l;Cfi ~ "l;Cfi cilF.<Ictil am: ~ ~ tm u ~ "l;Cfi w m -mtt cil~??tctil <it ~ 
~~~~-m~~ 

(A) ~ q,l -ey ~ q,l 

(B) "l;Cfi crnr ~ ~ ~ ctf 

(C) "l;Cfi crnr ~ ~ ~ ctf 

(D) ~ ~ -ey ~ (~) ciJf?<IChlaTI ctf 

37. The process represented in the given diagram is 

(A) formation of bud taking place in Amoeba 

(B) formation of daughter cells in Amoeba 

(C) identical gametes being formed in Amoeba 

(D) formation of spores in Amoeba 

31/2/1 14 
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(A) ~ if Cflffi CliT ~ 

(B) ~ if ~ (~) chl~IChlaTI CliT ~ 

(C) ~ if ~-~ ~ (gametes) CliT q.:r.:rr 

(D) ~ if ~an (spores) tliT ~ 

38. The budding in yeast is illustrated by the following diagram : 

~ 
I II III IV 

(A) I (B) II 

(C) (D) 

? 

~ 
I II III IV 

(A) I (B) II 

(C) III (D) IV 

39. If W 1 is the initial mass of raisins and W 2 is the final mass after 
soaking in water, then the percentage of water absorbed by the raisins 
is 

wl- w2 
X 100 (B) 

w2- wl 
X 100 

wl w2 
(A) 

w2- wl 
X 100 (D) 

wl- w2 
X 100 

wl w 
2 

(C) 

~ 1 ,,.., /1 

1 

1 
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* wl fch~lfl:l~l it~ CfiT ~ S\Olls:JI'i m am: -qr;:ft" -q: ~it~ w2 ~ 
s::&ls:JH m, m- Fcn~,fl:l~' it GRt -q: ~ ~ c€r S!R1~'C'IC'II WIT 
(A) w1 - w2 x 100 (B) w2 - w1 x 100 

wl wz 

(C) (D) 

40. Instead of room temperature (25°C), if the water used for soaking is 
50°C, the percentage of water absorbed by raisins will be 1 

(A) the same · 

(B) less 

(C) more 

(D) exactly twice 

-m:: ~ it ~ c2soc) 'G\ ;r ~ 3'1q~nMC'1 ~ CfiT ~ sooc m, m- fch~,fl:l~' it 
~· ~ ~ ~ c€r S!Rt~IC'IC'II WIT 
(A) ~~ 

(B) ~it cpr 

cc) ~it am 
(D) ~ it 6"tcl1 ~ 

41. The set of materials required in the experiment, "to determine the 
percentage of water absorbed by raisins" is 1 

(A) Raisins, water, filter paper, beaker 

(B) Raisins, beaker, balance, weight box 

(C) Raisins, beaker, water, balance, weight box 

(D) Raisins, beaker, water, filter paper, weight box, balance 

"fcfl~lfl:l'?l ~ ~ ~ c€r stfd'?IC'IC'II ~ coB" it m -ij 3'1tq'?ll6fl m111fi QTrft 
(A) fch'?lfl:l'?l it cftt, ~' ~ irR, ~ 
(B) fchO?IM'?I it cftt, ~. ~. ~-~ 
(C) fchO?IM'?I it cftt, ~. ~. ~, ~-~ 
(D) fchO?Ifil'?l it cftt, ~' ~' ~ irR, ~-GfCro, Tiffi 
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